Algepra Zb /.4-7.6 Review

Simplify.-

2
Write (272-6) 3 in simplest form.

2
Write (8¢-3) 3 in simplest form.

1

Write the exponential expression 4x? in radical form.

3

Write the exponential expression 9x 2 in radical form.

Solve the equation.

Ax+9+6=28
Ax+8-3=7
2
(x+3)3 =9
3
(x-10)s = 4
1 1
(8x-5)1 = (7-9x)2
1 A
(2x+9)5 = (-7-5x)3
Let fIx) = 4x + 7and g(x) = -3x + 2. Find f{x) + g(x).
Let flx) = —6x ~ 4 and g(x) = -2x - 7. Find f{x) + g(x).
Let fx) = 6x - Sand g(x) = 4x + 7. Find /- g and its domain.
Let Ax) = —4x + 2and g(x) = 7x - 3. Find /- g and its domain.
Let fAx) = 3x + 2and g(x) = 4x + 5. Find (f ° g)(3).
Let fix) = 4x - Sand g(x) = 3x - 2. Find (= g)(-2).



